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2 Cube Nets
The cube nets are 1, 3, 4, 6, 9, 11, 13, 14, 15, 17, and 20, numbered from left to right and top to bottom.



BmMT 2013 Puzzle Round Solutions November 16, 2013
3 Kakuro
25 16 30 17
- 17 8 g 17 9 8 i
2lo|5|7(8LN\°l6e|2]|7
s |9 |l als5187]09
- 6 3 29 5 g 8 7 23 24
el 8|69 1|7
Plols 5|76 N°7]|09
2lgl6|o9 71968
®l 9| 7 g|o

4 A Simple Multiple Choice Test

The answers to 1, 2, 3, 4, 5, and 6 are C, D, A, E, B, and D, respectively.

5 Sequence reconstruction

(3) Gives A < B < D, so the second part of (1) is false, so A < E. Then (5) forces us to have A < E <? <
? <7, that means that the first part of (4) is false, so D < C, which givesus A< E< B <D < C.

6 Superdoku
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